
D = 350, LU = 400, BU = 600, EXL = 200, EXB = 300

H = 240 + (0,5 × 250) = 240 + 125

H = 365 mm
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D U C T  S Y S T E M
S T A I N L E S S  S T E E L

T r a n s i t i o n  p i e c e s ,
s t a i n l e s s  s t e e l

Diameter: ø80 - ø1000 mm.

Transition pieces are spot welded and made of 
0.80 mm sheet metal.

The transition pieces can be made to order in 
other dimensions, and they are also available in 
asymmetric format.

State dimensions for BU × LU and D plus 
assembly method when ordering (p. 5).

Max. 35°

Calculation of H:

Example:

H = 240 + 0,5 × (max. value of LU – D)  
or (BU – D)


